
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

fK/fK/fhu;Nky; gw;wpkh fy;Yhup (Nj.gh) 

,uz;lhe; jtizf; fzpg;gPL 

 

$L fl;lhj gwit 

Gj;jhz;L tpisahl;L 

kio ntapypy; ,Ue;J 
ghJfhj;jy; 

jfty; njhlu;ghly; 
rhjdk; 

Njhl;lj;jpy; cw;gj;jp 
nra;af; $bait 

(5×3 = 15) 

ghlk; Rw;whly; 

 

…………………………… 
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 ×

1. fPiu tif cz;gjhy; Qhgf rf;jp mjpfupf;Fk; (  ) 

2. czT vkJ mj;jpahtrpa Njit MFk; (  ) 

3. ngypj;jPd; tpiuthf cf;Fk; jd;ik nfhz;lJ (  ) 

4. ehk; gpwUf;F cjTtjhy; kd kfpo;r;rp fpilf;Fk; (  ) 

5. ,b kpd;dy; Ntisapy; kpd;rhjdq;fis gad;gLj;Jjy;     

Mgj;jhFk;  (  )        (5×3 = 15) 

;   

( Ehyfk;> ngupag;gh> kutl;il> gr;ir> gw;fs; ) 

1. mjpfk; ,dpg;ghd czTfs; cz;gjhy; ………………. 
NrjkilAk;. 

2. ghlrhiyg; nghJr;nrhj;Jf;fspy; ……………… xd;whFk;. 
3. kQ;rs;> ePy epwq;fisf; fyg;gjhy; …………... epwk; 
ngwg;gLk;. 

4. …………………mjpf fhy;fis nfhz;l gpuhzpahFk;. 

5. mg;ghtpd; mz;zh ……………………… Mthu;.   (5×3 = 15)  

1. thdtpy;ypy; cs;s epwq;fspd; vz;zpf;if  

 Ie;J        VO        MW 

2. Fbg;gjw;F kpfr; rpwe;j ePu; 

 fpzw;WePu;     Mw;WePu;      nfhjpj;jhwpa ePu; 

3. fhy;fsw;w gpuhzpfspy; xd;W 

 gR    ghk;G    rpye;jp 

4. XLk; ePupy; ,Oj;Jr; nry;yf; $baJ 

 ,Uk;G   fy;  nwIpNghk; 
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5. ,aw;ifahf Vw;glf;$ba mdu;j;jk; 

 #whtsp   jPRLjy;   tOf;fp tpOjy;   (5×3 = 15) 

1. re;ijapy; thq;ff; $ba nghUs;  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2. jfty; ngWk; rhjdk;  

……………………………………………………………. 

………………………………………………………………… 

(2×8 = 16) 
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1. re;ijf;F vLj;Jr; nry;y Ntz;ba nghUl;fs; 2 jUf?  

  ....................................................          …………………………. 

           (2×2 = 4) 

2. Gj;jhz;L czTfs; 2 vOJf. 

…………………………………………………. .                                       ……………………………………………………..  

           (2×2 = 4) 

3. khztu;fSf;F ,ytrkhf fpilg;git 2 jUf? 

……………………………………………………….   ……………………………………………………. 

(2×2 = 4) 

4. fhw;wpy; gwf;Fk; nghUl;fs; 2 jUf?      

  

……………………………………………………                                 …………………………………………………………… 

           (2×2 = 4) 

5. ePupy; kpjf;Fk; jputq;fs; 2 jUf?  

            ……………………………………………………………                       ……………………………………………………………. 

              (2×2 = 4) 

6. ePupd; gad;fs; 2 jUf?  

………………………….        ……………………………. 

           (2×2 = 4) 
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